JGP SECME YARISMASI

JUDGES DETAILS PER SKATER
SENIOR MEN FREE PROGRAM

. Total Total
. Starting Total Program Component .
Rank Name Nation Segment Element Total Deductions
Number Score Score Score (factored)
1 Burak DEMIRBOGA TUR 1 128.67 62.90 65.77 0.00
(<} Base Scores of
# Executed Elements € Value GOE J1 J2 J3 J4 J5 J6é J7 J8 J9 Ref. Panel
1 3A 8.00 -1.60 -2 -2 -2 -2 -1 6.40
2 3Lz+2T 7.20 0.59 1 1 1 0 1 7.79
3 3F 5.30 0.88 2 2 1 1 2 6.18
4 2A 3.30 0.55 2 1 2 1 3 3.85
5 FCSp3 2.80 0.19 1 0 1 0 1 2.99
6 StSq3 3.30 0.33 1 1 1 1 2 3.63
7 3F+2A+SEQ 9.46 x -0.88 -1 -2 -1 -2 -2 8.58
8 3Lz 6.49 x 0.98 1 2 2 0 2 7.47
9 3S 473 x 057 2 1 1 0 2 5.30
10 CSSp3 2.60 0.26 2 1 1 1 1 2.86
11 ChSq1 3.00 1.00 2 2 2 1 2 4.00
12 CCoSp4 3.50 0.35 1 1 1 1 2 3.85
59.68 62.90
Program Components Factor
Composition 333 650 625 650 6.25 7.00 6.42
Presentation 333 6.50 6.50 6.75 6.50 6.75 6.58
Skating Skills 333 675 675 6.75 6.75 7.00 6.75
Judges Total Program Component Score (factored) 65.77
[ Deductions: 0.00]
. Total Total
. Starting Total Program Component .
Rank Name Nation Segment Element Total Deductions
Number Score Score Score (factored)
2 Alp Eren OZKAN TUR 2 124.84 58.80 66.04 0.00
o Base Scores of
# Executed Elements € Value GOE J1 J2 J3 Ja J5 Jé J7 J8 J9 Ref. Panel
1 3A 8.00 -0.80 -2 -1 -1 -1 -1 7.20
2 3Lz+3Lo 10.80 -1.77 -4 -3 -3 -3 -3 9.03
3 3Lo 4.90 0.98 1 2 2 2 2 5.88
4 2A 3.30 0.66 1 2 2 2 2 3.96
5 ChSq1 3.00 1.00 2 2 2 1 2 4.00
6 3Lz 6.49 x 0.00 0 1 0 0 0 6.49
7 2A+1Lo 418 x -0.66 -2 -2 -2 -2 -2 3.52
8 3F! 5.83 x -0.53 -1 0 -1 -1 -1 5.30
9 FSSp2 2.30 0.00 0 0 0 0 -1 2.30
10 StSq3 3.30 0.66 2 2 2 2 2 3.96
11 CCSp3 2.80 0.28 1 1 1 1 2 3.08
12 CCoSp4 3.50 0.58 2 2 1 1 2 4.08
58.40 58.80
Program Components Factor
Composition 333 6.75 675 6.75 6.50 7.00 6.75
Presentation 333 625 6.50 625 6.75 6.75 6.50
Skating Skills 333 650 675 650 6.50 6.75 6.58
Judges Total Program Component Score (factored) 66.04
[ Deductions: 0.00]
Legend:
# Sequence number GOE  Grade of Execution Jx Judges (x=1-9) Ref. Referee
X Credit for highlight distribution, base value multiplied by 1.1 ! Not clear edge
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